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@Zc*]:
Óx�VÐÎZßV CÙ�Z[Æn/VÅ®Z�Z�ágèSìX zZzwÔz�zxÔzÎxX t6,p!ÎZÑ]&�V6,�ì:

»�Z[�bÑiòìX
ÑiòìXCÙ ÑiòÎZÑ]���czèÎZÑ]&{à(%æFN�**&¿�Z[zZáÎZÑ]�XCÙÎZw»�Z[ 10~ zZzw .1

 (10 x 1 = 10 Marks) ��ìX  1 ÎZwÆa
/V6, (200) ~WJÎZÑ]�XZk~Ð¤(̈DÃÃð0*õÎZßVÆ�Z[�¶�XCÙÎZw»�Z[½ã�zÎ z�zx .2

 (5 x 6 = 30 Marks) �Z]��X 6 CÙÎZwÆa ìX �
(500) ~0*õÎZÑ]�XZk~Ð¤(̈DÃÃð&ÎZßVÆ�Z[�¶�XCÙÎZw»�Z[½ã0*õÎ zÎx .3

(3 x 10 = 30 Marks) �Z]��X 10 CÙÎZwÆa /V6,�ìX

zZzw
1 :� ÎZw

ë�X ________Ã (owner) �* �Æ (i)

ìX ____________ Ã¥x�ä»�� P/E Ratio (ii)

�X ____________ VB Å Non-Operationg Expenses (iii)

ìX Liability ___________ Debenture (iv)

�X ____________ActivitiesÆCash flow (v)

9c*ß�Z[Å¶K0+�<:
( ) Æ�»gHY@*ìX IAS-3 SjZ)Ã (vi)

( ) Yg~�CìX  ICAI Ã Accounting Standard (vii)

( ) ìX  Non-operating income »È Bad Debt (viii)

( ) ~¼�Ût7ìX Merger Zzg Amalgamation (ix)

( ) ìX Liability �Ûo6,vyZq- (x)

P.T.O



z�zx
C[ÙX  Cash from Operating Activity under Indirect Method fsÆ¬]Åæ�Ð (2)

Profit and Loss Account

¬] g¶ ¬] g¶
To Bad debt
To Depriciation
To Rent
To Travelling Expenses
To Advertisements
To loss on sale of machinery
To Preliminary Expenses
To Tax Provision
To Profit

10,000
8,000
4,000

12,000
5,500
2,500
3,800

10,000
58,600

By Balance b/d
By profit on sale of land
By Dividend

1,00,000
12,000

2,400

1,14,400 1,14,400

C[ÙXX (Goodwill) §iÆ��Ä  Capatalisation fsÆ¬]Åæ�Ð (3)

gz[  60,000 = �~
gz[ 12,000 = �Ûo

gz[  2,00,000 = qg]
gz[  20,000 = (debtors) �Û¡Zg
gz[  50,000 = ;B~×~
gz[  30,000 = �~×~

gz[  1,00,000 = ñR,»g
gz[ 15,000  = (creditors) A�Zg

gz[ 1,00,000  = e

&4-
?ç
EG
E

Fk

gz[ 3,00,000 = Future Maintanable Profit

15% (Normal Rate of Returns) **gïÑbo«

»gÙX (Trading and Profit & Loss Account) fsÅ¬]Åæ�Ð�gC�zvy3M (4)

gz[ 70,000 = y%h+ gz[ 3,40,000 = �Ûz|#
gz[ 10,000 = y%h+zZ3 gz[ 20,000 = �Ûz|#zZ3
gz[ 70,000 = (Salary) 9Z{ gz[ 8,000 =(Carriage inward) Z0+gzã!*g',�Zg~
gz[ 20,000 = �Zt gz[ 30,000 = (wages) Z%̀]

gz[ 15,000=(Dividened recieved) qÝe-Zi+&+ gz[ 10,000 = (Interest recieved) qÝÎ�
gz[ 10,000 = 1~Ærgs gz[ 5,000 = Bad debt

gz[ 30,000 = (Opening stocks) Z¶kfí{ gz[  50,000  = (Closing stocks) Z!òfí}

2



C[ÙX Cost of Goods Sold fsÅ¬]Åæ�Ð (5)

gz[ 25,00,000 = �Ûz|#
gz[ 15,00,000 = y%h+

gz[ 3,50,000 01-01-17 = fí{
gz[ 2,00,000 31-12-17 = fí{

gz[ 5,000 = (Carriage Inward) Z0+gzã!*g',�Zg~
gz[ 10,000 = (Custom Duty) Qe-K

gz[ 1,20,000 =(Direct Expenses) gZ�&aZzZg~rgs
gz[ 70,000 = (Power and Fuel) ðZgïgZ�&
gz[ 60,000 = (Factory Expenses) 1~Ærgs

gz[ 7,000 = Bad Debt

gz[ 5,000 = (Advertisment)n
�Zzge#-?ç EEFkÅ°pÙX (6)

úZïÃÒyÙX (Factor affecting) Å°p�ÆZk6,ZW,Z0+Zi (Goodwill) �Ä (7)

SjÐH%Z�ì?z�s#ÙX (8)

ÃVßVÆfg=z�s#ÙX (Assets and liabilities) ZU*Pzf)�Zg-V (9)

zÎx
ÆaZ!ò3D 2014 âga 31 Åæ�Ð�w» (Trial Balance) fs~�Ø�Wiâ�ÍØZg{ (10)

»gÙX (Final Account)

Trial Balance

¬] L/F Debit Credit

Purchase and Returns

Sales and Returns
(Wages) '×�zg~

Cash ×~
 (Bank)�

 (Interest) Î�
Capital and Drawing

(Building) qg]
 (Discount) g^

(Creditors and Debitors) �+�ZgzA�Zg
(Salary) 9Z{
 (Rent) �Zt

Bills recieveable and payable

1,25,500

3,50,000
40,000
20,000

13,000
4,000

10,000

1,00,000
4,000

40,000

50,000
5,000

1,00,000

2,500

2,000
-
-

-
8,000

3,00,000

3,000
20,000

3,000
50,000
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¬] L/F Debit Credit

Motor Vehicle

 (General Expenses) ¬xZy%ZY]
(Bad Debts) ',}�Û2

(Trade Expenses) �gCZy%ZY]
(Opening Stock) Z¶kfí{

 (Power and Fuel) Zgï
 (Water Gas) 0*ã�

 (Insurance)Ý
(Patents)¼

(Machines) �~
(Furniture) �Ûo

e

&4-
?ç
EG
E

F

long term loan

20,000
3,000

2,000

3,000

40,000

2,000

4,000

2,000

50,000

1,00,000

50,000

7,00,000

49,000

11,37,500 11,37,500

(Adjustments) _$©54è E
GG

G

gz[ 1,00,000 (Closing Stock) Z!òfí{ (i)

ÅRög¿Yñ (Doubtful debt) �u�ÛçV 10% (Debtor) �+�Zg6, (ii)

¬Z+~Å�X (Depriciation) �ÛÎ�Ï 10% �~Zzg�Ûo6, 5% qg]6, (iii)

gz[Z�Z�ãìX 8,000Æ(Wages) gz[ZzgZ%̀] 5,000 9Z{Æ (iv)

C[Ù: Pro-Rata Allotment fs~�Ø�ñZ�Åæ�Ð (11)

(Application recieved �gpZ�&qÝ (Share issue) �Yg~��{ v»**x
X=10,000,  Y=12,000, Z=2,000 20,000 A

M=16,000, N=14,000, O=6,000 30,000 B

P=22,000, Q=24,000, R=8,000 40,000 C

Capitalisation Method Zzg Super Profit Method óAverage Profit Method �Ø�ñZ�Åæ�Ð (12)

ÃC[ÙX Goodwill Æ�»gz!*gÆ�B
�wó 3 No. of Year Purchase gz[ó  5,00,000 (Average Profit) Zz�o«

gz[ó  50,000 ó�~ 20% = Normal Rate of Return gz[ó  4,00,000 **gïo«
gz[ó 30,000 gz[ó�~×~ 20,000 gz[ó;B~×~ 2,00,000 qg]

gz[X 3,00,000 Future Maintanable Profit gz[ó 1,00,000 gz[óe&4-?ç EGEFk 70,000 (Debtor) A�Zg
vÅ°p�D�ñVßVÆfg=vÆZlxÅz�s#ÙX (13)

ÃVßVÆfg=,e�X Activities SjÆ (14)
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